Math 4140. Lecture 13 Cu REU: math. wolorado.edu/athienn/Internal MRE/Mark RE. html

Last time: Def. of algebra representations

02.15.2021.

Chart REU: math. wolorado.edu/athienn/Internal MRE/Mark RE. html

Chart time: Def. of algebra representations

0: A -> End(V)

- any v.s. V can be made a P-module

- each module structure on V is determined uniquely by the action of X, because X generates P as an algebra.

- in fact, for any 26 Ends (U), we can make V a P-module with X-V=2(J) YVEV. We'll dente this module by V2.

Today. 1. modules of k[x]/(f).

Take an $[e[x]-module\ Vd\ fir\ some\ d\in End_k(v).\ (x--=d(-))$ Take an ideal $I\in [e[x]]$, never sarily of the firm I=f for some $f\in [e[a]]$. G: Under what condition is V_{α} naturally a k(x)/f -module with the action $(a+cf7) \cdot v = a \cdot v + ac k(x)$, $v \in V$.

Prop. The above proposed action makes Va a betal/cf7-module iff $f(\alpha) = 0$ in $End_{k}(V)$.

Eg.
$$f = x^n - 1$$
. $I = (x^n - 1)$.

The prop says that for $d \in \text{End}_{\epsilon}(V)$, we can make Vd an $\frac{|\epsilon Gu|}{\langle x^n-1 \rangle}$ module with $\left(x+(x^n-17), V=2(U)\right)$ if $f(x)=d^n-1=0$.

Why? "only
$$f'$$
: Note that $\left(\frac{\pi}{\chi}^n - 1\right) = \left(\chi^n - 1\right) + \left(\chi^n - 1\right) = 0$.

Therefore $V_{J, 0} = (\overline{X}^{n-1}) \cdot V = (\overline{J}^{n-1}) \cdot V = (\overline{J}^{n-$

So $d^2-1=0$ a EndkV.

"if": Clan: If
$$x^n-1=0_V$$
, then $(a+\langle x^{h}-17\rangle \cdot V=a.V)$ I well-defined and softsteet the necessary module axions by wheretake.

Pf: well-defined per: suppose $a+\langle x^n-17\rangle = b+\langle x^n$

Put another way: Let V be a vector space and A = k Tx]. Take $f \in k Tx$]. There's a bijection End (V) () A-mod structures on Viso Morener, this bijedim restricts to a bijection {Le Brd k(v) | f(L) = 0} (>> { A-mod standards on V that naturally whence | p(x)/+>-modules / iso. 2. Gp actions vs. modules/reps of gp algebras

Man goal: Show that any gp action G(X), $(g, x) \mapsto g.x$ naturally induces a kG-module kX with gx = g.x.

as usual. it suffices to specify

Eq. $G = S_3$ $G \times X = \{1, 2, 3\}$ how a basis elt of the alg acts on a basis fix basis ett of the $A = kG = kS_3$ $G \times k= k \times 1, 2, 3 \times 2$.

End $K(V) = M_3(k)$ module.

Take $\sigma = \begin{bmatrix} 1 & 2 & 3 \\ 1 & 3 & 2 \end{bmatrix}$ G G "upgrade" the linear map $\overline{\sigma}: e_1 \mapsto e_3$ $e_2 \mapsto e_3$ $e_3 \mapsto e_2$

The proof: next time. (Try at yourself first!) [000]